< 00, > (M)

<op/p. > (70)

Ratio

o
[N

<0 @> (rad)
o
o [
[ [¢)]

100r

A o ©
o O O
[TTTTTee

20

................................................

e

.........

....................

T BT

0 1 2 3
to beamline)

< o cot(y) >
o
=
a1

o
[N

o
i

............................

....................

....................

1 2 3

—— DQMRKET TTUSPU et oW

—— BRM-mKEIMInUSPU-NEW SF%Ht Specpressy|owpt
—— DOM™m FIt:X nusPU]| EW e¥ t~specPless3-lowpt
—— DOM”mKFIt—XiMinusP efault—specPLess4-lowpt

.......

101 Y
3 :
1 Y SO
1 1 |
1.
1 2 3

.......

.......

.......

......

......

...........

...........

...........

|
D
T T TTTT]

R

o
|0
o[

0 1 2 3
TP n (PCA to beamline)

100

.........

.........

.........

...........

...........

...........

1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


